SHSEEEE (FIFEHM) FHE/OT/ 0RERRE (B EMR1/2E)
SH54E5A17H
- REMA INEIAR
B = A 5 =, = 5 =
HEH | Gra | Bt | ek | TE® | Goow | et | mek

RN 439.3 253.9
Bz 67.0 32.7
-BRB(ER) 64.8 31.5
-7 R 2.2 1.2
&t 506.3 286.6
(ERRESE

- REMA INEIAR

p = A ~ = = A 5 =

mER | G | At | we | T | Gose | a1 | wik
R 1.2 6.4
B& 12.4 19.7
PR AT 16.2 29.3
g+ iR ET 0.1 3.6
BEhH 0.0 0.1
+= 0.0 0.0
T#T 8.2 5.4
MR 18.1 26.6
=& 62.5 1.9
BERS A 13.2 1.3
ik 0.0 0.1
FRHET 0.0 0.1
EFHH 0.6 0.2
BE % 9.2 5k 0.6
KR E 176.5 E 8.5
B () 0.1 0.1
R\ (% E M) 0.4 0.2
BRETRERR) 0.1 0.1
K AmET 11.3 1.4
1R R 0.0 0.0
B4 0.0 0.0
BE 0.0 0.0
R 0.0 0.0
=y & 0.0 0.0
B% 0.0 0.0
b= 0.0 0.0
=R 0.0 0.0
R £ 0.0 0.0
&) 330.1 105.6




QEEMRE (B EMR2/2E)
- KEA INEIfR
P = A . rvs =& 5 s
HEH | Grae | Bt | oew | TE® | Goom | et | mek

PN 0.0 0.0
23 23.3 29.1
B & 0.0 0.0
iR imHET 50.5 79.4
54 JRHET 0.0 0.0
BHAH 0.5 0.5
+= 0.0 0.0
T 0.1 0.1
\Yiz! 0.0 0.0
=& 0.0 0.0
ik 0.0 0.1
EFHH 0.1 0.1
BFE 0.0 0.0
N 0.0 0.0
R\ (e ) 0.0 0.0
RREHEZ ER) 0.0 0.1
REA(TRERR) 0.0 0.1
R KHET % 0.4 0.9
BRR z 0.1 z 0.2
atF 0.0 0.0
B4 0.1 0.1
=B 0.1 0.1
RE 14.0 10.1
%) 14.4 21.5
BrH 1.4 0.7
/IMNAEIR 0.1 0.1
=Ev 0.1 0.2
A 1.0 1.0
NTETATEK 1.3 1.2
INTRERA 0.2 0.3
=R 0.9 1.0
BAHT 0.0 0.1
il 0.1 0.1
I\NE#HIGE 0.1 0.2
I\FEH 0.1 0.1
I\FHmEE 0.2 0.5
= 0.1 0.4

&5t 109.2 148.3




